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Mechanics 9 - Static Rigid Bodies 

Please complete this homework by ____ . Start it early. If you can't do a question you will 

then have time to ask your teacher for help or go to a drop in session. 

Section 1- Review of previous topics. 

Please complete all questions. 
1. A plank AB has mass 12 kg and length 2.4 m. A load of mass 8 kg is attached to the plank at

the point C, where AC= 0.8 m. The loaded plank is held in equilibrium, with AB horizontal, by

two vertical ropes, one attached at A and the other attached at B, as shown in Figure 1. The

plank is modelled as a uniform rod, the load as a particle and the ropes as light inextensible

strings.
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Figure 1 

Find the tension in the rope attached at B

B 
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b) The plank is now modelled as a non-uniform rod. With the new model, the tension in

the rope attached at A is 10 N greater than the tension in the rope attached at B. Find

the distance of the centre of mass of the plank from A. (6)

2. Using data from Cam borne, Heathrow, Leuchars, Hurn and Leeming in 1987, the average daily

total hours of sunshine during June in the UK is modelled by a Normal distribution with mean

4.38 hours and variance 14.0 hours2
• The sunshine levels are measured in those locations

during June 2015 to see whether it was a particularly sunny month by comparison.

a) State null and alternative hypotheses for this test.

The 150 daily readings have an average of 6.76 hours. 

b) Calculate the test statistic and the critical value if the test is the 5% level.

c) State with a reason whether the null hypothesis is accepted or rejected.

Determine, in context, the conclusion of the hypothesis test.










